[lpo3BeHen 3BOHOK AnNA
Bac!
OH 30BeT Hac B CBeTNbIMN
Knacc!
[lo MecTaM TUXOHBLKO cenu
Ha MeHAa BCe NoOCMOTpenu.



a+B+cC 6+9
a+tB 27-4
12-a 46 + 3 - 2
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bYKBEHHbIE BbIPAKEHHS.
(3aKpenneHue)



(1 UNHACTURR Y



14 + 5

12+ 6

«J1abupuHT»

1 Spel 7

Qe

1= 3

o+ a1



d 6 10
d-5 1
d+10| 16
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1BapuanT | 2 Bapnant

a+ 8 a-8
a=12 a=12
a =20 a =20

a=32
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1BapuanT | 2 Bapnant

a+8 a-3
a=12 12+8=20 a=12 12-8=4
a=20 20+8=32 a=20 20-8=12

a=32 32+3=40 a=32 32-8=24
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3anava.
Bbinno — ? 32 KH. n 40 KH.
Buiganu — 20 KH.

OcTtanocb - ?

PelwleHue.
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PelwleHue.
1) 32+ 40 =72 (kH.)
2) 72 — 20 = 52 (KH.)
OTBerT:
(32+40)-20=52 (kH.)




14 -8 =
18 -9 =
15-5=
7+5=
33-30~=
16 -8 =
70 -63 =










[loMmallHee 3aaaHue.
Yu. c. 78 ynp. 4.



